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A5: Crosswalks and Interoperability
Deadline

October 15, 2013, 9 a.m.
What to hand in

Submit a single file YourNameA5Report.pdf that contains all parts of the assignment. Include your crosswalk, your pseudo-code, and your reflection.

Overview

In this assignment you will create a "crosswalk" (declarative spec) and "pseudo-code" (procedural spec) to transform data in the systems of High Tech Company so that it can interoperate with the systems used by Schmidt Elektronik GmbH.

Part 1. Compare Models (0 pts)

An important requirement for two companies to work with each other is that their business systems interoperate. That is of course easier said than done as many companies encode their information based on different conceptual models (you may have experienced an example of this when you exchanged your musical-event instances with your partner in A3). To achieve interoperability, companies must address a wide range of conflicts between their models. 

High Tech Company has been working with Acme Inc, another company, in the past. As you can see the differences in the models used by the two companies could cause conflicts when trying to exchange information between their systems. Take a look at the example instances below and see what those conflicts might be and think about how you might solve them.
	Example Instances

	Instance from High Tech Company
	Instance from Acme Inc

	<Computer>


<OEM>IBM</OEM>


<ProductLine>Thinkpad</ProductLine>


<Model>T22</Model>


<Specs>



<Speed Unit="Ghz">1.2</Speed>



<MemorySize Unit="Gb">8</MemorySize>



<DiskSize Unit="Gb">256</DiskSize>



<Weight Unit="pound">4.5</Weight>



<Price Currency="USD">2000</Price>



<DisplayRes>SVGA</DisplayRes>



<DisplaySize Unit="in">15</DisplaySize>


</Specs>

</Computer>
	<Computer>


<Manufacturer>IBM</Manufacturer>


<Series>Thinkpad</Series>


<Model>T22</Model>


<Specifications>



<Heaviness Unit="pound">4.5</Heaviness>



<ListPrice>2000</ListPrice>



<ProcessorSpeed Unit="Ghz">1.2</ProcessorSpeed>



<Memory Unit="Gb">8</Memory>



<StorageSize Unit="Gb">256</StorageSize>



<Screen Unit="in">15</Screen>


</Specifications>

</Computer>


Part 2: Crosswalk Table (3 pts)

To enable interoperability with Acme Inc, High Tech Company created a crosswalk table to help them conceptualize the structural and content differences between the models. Below is that crosswalk table. Your assignment is to create a crosswalk table between High Tech Company and Schmidt Elektronik GmbH, using the sample instances provided in the file A5 Instances.doc to determine the conceptual models. Use the framework established in the example crosswalk table below as a guide.
	Example Crosswalk Table (Declarative Spec)

	Instance from High Tech Company
	Instance from Acme Inc

	Computer
	OEM
	Content: A-Z
	Computer
	Manufacturer
	Content: A-Z

	
	Product Line
	Content: A-Z
	
	Series
	Content: A-Z

	
	Model
	Content: A-Z
	
	Model
	Content: A-Z


1. Speed 


Content: Numbers


3. ProcessorSpeed


Attribute: Unit

	
Content: Numbers


Content: Numbers


4. Memory


Attribute: Unit

	
Content: Numbers


Content: Numbers


5. Storage Size


Attribute: Unit

	
Content: Numbers


4. Weight 


Content: Numbers


1. Heaviness


Attribute: Unit


Content: Numbers

	


5. Price


Attribute: Currency


Content: Numbers


2. ListPrice


Content: Numbers

	


6. DisplayRes


Content: A-Z


–

	


7. DisplaySize


Attribute: Unit


Content: Numbers


6. Screen


Attribute: Unit
Content: Numbers

	


Part 3: Pseudo-Code (3 pts)

Once you have a mental picture of the two models you need to create the rules that will enable a machine to automatically transform instances between them.

Transformations can be achieved with a number of tools languages such as XLST or professional software like Altova MapForce. However, for this assignment we will keep it simple and create the instructions in basic pseudocode, which means that your syntax will be standard English, but you will need to use it as if you were writing a procedural program. 

Using your crosswalk table and the instances in A5 Instances.doc, write rules that will enable a machine to automatically transform instances from High Tech Company’s system to Schmidt Elektronik GmbH’s system, using Pseudo-Code.

	Example Pseudo-Code (Procedural Spec)


    ...

	    Take Specs element

        Change its name to Manufacturer
        Add it to New Instance
    Take fourth element of Specs
        Change its name to Heaviness
        Add it to New Instance
    ...


Part 4: Reflection (4 pts)

Reflect on your observations and decisions in Parts 2 and 3 by describing your thought process and providing specific examples from your assignment or from other experiences.

· What types of model conflicts did you run into? Were there differences in the naming? Where there differences in sequencing? What other differences did you observe? (2 pts)
· Discuss how you addressed these conflicts with your pseudo-code? Was it easy to resolve conflicts or were there a few tricky issues? What made them challenging, and why? (1 pt)
· Imagine if you were now asked to transform an instance based on yet another different model. Which parts of your pseudocode would hold up, and why? Which parts may need to be rethought or expanded, and why? (1 pt)
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